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Hadron response in EMCal

ï Measured pion at test beam

ñ 0.3, 0.8, 1.0, 2.0 GeV/c @ BNL

ñ 40GeV/c @ CERN

ï Fitted by empirical fuction

Gaussian(MIP) + 

0.3GeV/c

0.8GeV/c

1.0GeV/c

2.0GeV/c

)E/Ebexp()E/E(A beam
1p

beam ⋅−×× − 40GeV/c
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QM2001 poster

MIP Energy

Comparison with
AGS test results: π1.0GeV/c.
PHENIX √s    = 130GeV:
0.9-1.1GeV/c π±at lower multiplicity.

! minimum Ionization Particle at 
0.26GeV.

! The spectrums of hadronic shower 
between 0.26 ñ 1.0GeV are very 
similar.

Relative energy of every towers are 
calibrated by using ionization energy 
of 0.6-1.0GeV/c π± at lower 
multiplicity. The accuracy of this 
calibration is 3% accuracy which is 
dominated by statistical error.

Hadronic 
shower

MIP 0.26GeV

NN
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